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Name: __________________________________



1
Which expression has the smallest value?

	1)
	[image: image1.png]




	2)
	[image: image2.png]




	3)
	[image: image3.png]




	4)
	[image: image4.png]-3.02







2
Which number has the greatest value?

	1)
	[image: image5.png]




	2)
	[image: image6.png]




	3)
	[image: image7.png]ESIEY





	4)
	1.5



3
In which list are the numbers in order from least to greatest?

	1)
	[image: image8.png]12,533, 43





	2)
	[image: image9.png]NERTREE





	3)
	[image: image10.png]NEREERE





	4)
	[image: image11.png]ZZ,Zé,ﬁ,n







4
Which numbers are arranged from smallest to largest?

	1)
	[image: image12.png]314, 2 5 51

—





	2)
	[image: image13.png]22
o1, 534





	3)
	[image: image14.png]NCTIERTRE)

L5 w





	4)
	[image: image15.png]22
SOIRTEE







5
Which list is in order from smallest value to largest value?

	1)
	[image: image16.png]




	2)
	[image: image17.png]




	3)
	[image: image18.png]r{%,]l,m






	4)
	[image: image19.png]2
35T







6
Which list shows the numbers [image: image20.png]0.2,




 in order from smallest to largest?

	1)
	[image: image21.png]1
B

1
012 5.





	2)
	[image: image22.png]




	3)
	[image: image23.png]




	4)
	[image: image24.png]






7
In which group are the numbers arranged in order from smallest value to largest value?

	1)
	[image: image25.png]%314, z





	2)
	[image: image26.png].86, =, 314,





	3)
	[image: image27.png]22
T304, 5 A[2.86





	4)
	[image: image28.png]22
.14, A/9.86, 5, %







8
Which is the correct arrangement of these terms in order of value, from smallest to greatest?

	1)
	[image: image29.png]Zﬁ,A%, |-4.241, 475





	2)
	[image: image30.png]275, 1424, 41, 342
l4g.
575, 4.2





	3)
	[image: image31.png]A7, 1424, 3402






	4)
	[image: image32.png]5o 42,3075, 3412







9
Which inequality is true if [image: image33.png]


, [image: image34.png]1.99+0.33




, and [image: image35.png]


?

	1)
	[image: image36.png]y <z <X





	2)
	[image: image37.png]y<x <z





	3)
	[image: image38.png]X<z ey





	4)
	[image: image39.png]X<y <z







10
Kyoko’s mathematics teacher gave her the accompanying cards and asked her to arrange the cards in order from least to greatest.  In what order should Kyoko arrange the cards?

[image: image40.png]Lo





11
Write the following numbers in order from smallest value to largest value:  [image: image41.png]12210

155




Justify your answer.

12
For what value of t is [image: image42.png]


 true?

	1)
	1

	2)
	0

	3)
	[image: image43.png]




	4)
	4



13
If [image: image44.png]1
P exco
x



, then x could be equal to

	1)
	1

	2)
	5

	3)
	[image: image45.png]




	4)
	[image: image46.png]






14
If [image: image47.png]


, t could be

	1)
	0

	2)
	2

	3)
	[image: image48.png]




	4)
	4



15
If [image: image49.png]%

2

<t

f



, then t could be

	1)
	[image: image50.png]




	2)
	0

	3)
	[image: image51.png]




	4)
	4



16
Show that the following can be ordered from smallest to largest for all [image: image52.png]x>l



.  Describe the method you used and state the correct order.
[image: image53.png]
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If [image: image54.png]


, [image: image55.png]ced



, and a, b, c, and d are all greater than 0, which expression is always true?

	1)
	[image: image56.png]a-c+b-d






	2)
	[image: image57.png]a+c>b+d





	3)
	[image: image58.png]=l

P





	4)
	[image: image59.png]ac < bd
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Let x and y be numbers such that [image: image60.png]Dexaycal



, and let [image: image61.png]


.  Which graph could represent the location of d on the number line?

	1)
	[image: image62.png]




	2)
	[image: image63.png]




	3)
	[image: image64.png]




	4)
	[image: image65.png]






1
ANS:
3

[image: image66.png]1::%20<’«/17~7316<77r~7314<7302




REF:
010526a

2
ANS:
1

[image: image67.png]1§~167<§~157<15:150<ﬁ~141




REF:
010002a

3
ANS:
3

[image: image68.png]fx17¢ 7r~31<32=32<3%~33




REF:
010304a

4
ANS:
4

[image: image69.png]B1~3017 <314 =3140<7r~3142<27—2~3143




REF:
080516a

5
ANS:
4

[image: image70.png]7r~3141<27—2~3142<31:3100<JE~3162




REF:
060609a

6
ANS:
4

[image: image71.png]o<t~ 11<[-0.12]= 120<1- 125
82 9 8




REF:
080621a

7
ANS:
4

[image: image72.png]3.14 =3.14000 < +/9.86 ~3.14006 <o~ 3.14159 < 27£~3 14286




REF:
010816a

8
ANS:
3

[image: image73.png]= 4125 <YT5 94217 <|-4.24|= 4.240 <37 = 4.243





REF:
fall9909b

9
ANS:
3

[image: image74.png]3.04 3
2o s-a3e22 y-199+033~23
14 =03 k4




REF:
010213a

10
ANS:


[image: image75.png]8,31, 5243




.  [image: image76.png]2%:280<J§~283<zi~311<n~314<2J§~34s




REF:
060433a

11
ANS:


[image: image77.png]3z
L3.15. 43,175



.  [image: image78.png]=167<5=173<1.75=175

YT PEREI
7




REF:
060835a

12
ANS:
4
REF:
spring9813a

13
ANS:
4

[image: image79.png]1,1
SRR
@<

04< 20< .45




REF:
010512a

14
ANS:
3

[image: image80.png]



REF:
080717a

15
ANS:
3

[image: image81.png]



REF:
069917a

16
ANS:


[image: image82.png]x,

E



.  If [image: image83.png]4,4

1,

1

T




REF:
fall9921b

17
ANS:
4

Cross-multiplying, ac < bd
REF:
080006a

18
ANS:
4

Because x < y, x – y must be negative, so d < 0.
REF:
010120a

